# ا -ضمان وصيانه/ اجهزة Electrosurgical unit Argon- Enhanced coagulator رقم المفاتحة 61/2022/67 شركة alsana INC مكتب الانظمة العلمي

No.	Unit	Unit Price	Qty.	Total Price
1	Electrosurgical unit ARC 350	\$29,000	11	\$319,000
2	Option Argon / GastroCut, for ARC 350		11	R71
3	ARC PLUS, unit for ARC 350		11	
4	Double-pedal footswitch with switch, cable 4 m		11	
5	Argon handle COMFORT, cable 3.5 m		11	
6	Pressure reducer, for ARC PLUS		11	
7	Gas cylinder Argon, 4.8 l		11	
8	ARC PLUS filter set, single-use, sterile (50 pcs.)		11	

No	Unit	Unit Price	Qty.	Total Price
1	ARC CART, Equipment trolley	\$1,320	11	\$14,521
2	Rubber return plate, adults, 250 x 150 mm, international	\$244	11	\$2,684
3	Cable, rubber return plate, international, 4.5 m	\$99	11	\$1,086
4	Monopolar cable, endoscopy 2.8 mm, for 8 mm Bovie, 4.5 m	\$76	11	\$833
5	Cable for flexible Argon probe COMFORT, 2.5 m	\$425	11	\$4,678
6	Flexible Argon probe, Ø 2.3 mm, 3.0 m	\$369	11	\$4,057
7	Flexible Argon probe, Ø 2.3 mm, 2.2 m	\$270	11	\$2,974
8	Rigid Argon needle cutting and coagulation electrode, 150 mm	\$248	11	\$2,729
9	Rigid Argon knife cutting and coagulation electrode, 150 mm	\$248	11	\$2,729

#### Training:

No.	Training	Price
1	Aboard training	5000\$ per person
2	Local training	Free

#### شركة NASMA

#### مكتب السبيل

Two Hundred Seventy-Five Thousand US	275,000.00 USD	
Dollars		

	1			Schedule for (Medica	3	to be imp	ported fro	m abroa	d		
						4			5		6
National No.	Seller		Brief Description of Goods ##				Price per physical unit [ Bidder may insert permissible Currency]				
Tradition No.	Code No.	Item No.	Product	Packing Unit Size	Quantity offered and physical unit	Country of Origin			incidental Services as defined in Schedule of Requirements	DDP at End-users' site and Incidental	Total price on CIP Baghdad
(a)	(b)	(c)	(a)	27						Services	3*5(d)
N/A	ESB-05	1	Electrosurgical	(b)			(a)	(b)	(c)	(d) = [(b)	1
			Unit, Argon-	1	11	Italy/China	25,000.00	(-)		+ (c)]	
			Enhanced coagulator				25,000.00				275,000.00 USD

Grand Total of Bid price: 275,000.00 USD Two Hundred Seventy-Five Thousand US Dollars.

stora <sub>f</sub>	6	2	3		4			5	6.	7.	8.		
Schedule No.	Item No.	Brief Description of								Total AMC Cost for 2	Taxes	Total AMC for 2 years	Grand Total AMC for 2  years
(-)	/L\	Goods		1 <sup>st</sup> Year	2 <sup>nd</sup> Year		n <sup>th</sup> Year	Years = [4 (a)+ 4		with Taxes [5+6]	with Taxes [3x7]		
(a)	(b)			(a)	(b)		(n)	(b)+4n)]		[540]	2		
	1	Electrosurgical Unit, Argon- Enhanced coagulator	11	2,000	2,500			18,000	990	18,990	208,890.00 USD		

Grand Total of Bid price: 208,890.00 USD Two Hundred Eight Thousand Eight Hundred Ninety US Dollars.



1					2		3	4	5	6
Schedule No.	Item No.	Brief Description	on of Go	ods			Qty	Bid security amount in USD	Final Destination	Required Delivery period as per incoterms 2010
(a)	(b)	Product (a)	Stren gthh (b)	Dosage s form (c)	Pharmacope ia Standard (d)	Unitpacksize (e)			·	
	1	Electrosurgical Unit, Argon- Enhanced coagulator				1	11	\$3,390.00	KIMADIA Warhous or sit of the health directorate	4-5 months from the date of receiving irrevocable LC – CIP Baghdad

#### مان وصيانه/ اجهزة Electrosurgical unit Argon- Enhanced coagulator رقم المفاتحة 61/2022/67

## شركة karandsh مكتب الشرق الأوسط

د.ع.	460,900,000.00	د.ع.	41,900,000.00	11	Electrosurgery Generator  Model:ICONIC IMAGE 1 +APS1  Argon-Enhanced coagulator  with trolley and Argon Gas Cylinder	1
				د.ع.	المجموع: 460,900,000.00	

	1		2		3	4			5		6
National No.	Seller Code No.	Item No.	Brief Description	n of Goods ##	Quantity	Country of	[ Bio		hysical unit ermissible Currer	ncy]	Total price on DDP at End- users' site along with Incidental Services
			Product	Packing Unit Size	physical unit	Hered and Origin	CIP Price (BAGHDAD)	DDP at End- users' site	incidental Services as defined in Schedule of Requirements	DDP at End- users' site and Incidental Services	
(a)	(b)	(c)	(a)	(b)			(a)	(b)	(c)	(d) = [(b) + (c)]	
الشرية الاستراد	-	1	Electrosurgical Unit Model ICONIC IMAGE 1	ICONIC (46*52*30) (cm) APS1 (46*30*52) (cm)	11	Iran	37,520,000 £.².	37,520,000 £.². Kimadia Warehouse	4,380,000 د.ع	41,900,000 E2.	460,900,000 E.3.

Grand Total of Bid price: Four hundred sixty million nine hundred thousand IQD

1		2	3			4			5	6.	7.	8.
Schedule	Item	AMC Cost for year wise after completion of '5' yearWarranty period. Total		Total		Total AMC for	Grand Total AMC for 5					
No.	No.	Brief Description of Goods	Quantity Offered	1 <sup>st</sup> Year	2 <sup>nd</sup> Year	3 <sup>rd</sup> year	4 <sup>th</sup> year	5 <sup>th</sup> year	AMC Cost for '5'Years	Taxes	with Taxes	Years with Taxes [3x7]
(a) (b)			(a)	(b)	(c)	(d)	(e)	0.00.0		[5+6]		
1	1	Warranty & Maintenance labor+ spare parts for Electrosurgery Unit	11	1,000,000 E.s.	1,100,000 8.4.	1,210,000 £.3.	1,331,000 2.3.	1,464,100 E3.	6,105,100 وبد	164,838 とみ	6,269,938 e.s.	68,969,315 £. <sup>3</sup>

Grand Total of Bid price: sixty-eight million nine hundred sixty-nine thousand three hundred fifteen Iraqi Dinars

د.ع. 460,900,000	four hundred sixty million nine hundred thousand Iraqi Dinars
------------------	--

#### EQUAL TO:

315,685 \$	three hundred fifteen thousand six hundred eighty-five
313,063 ¢	US Dollars

#### \$-ضمان وصيانه/ اجهزة Electrosurgical unit Argon- Enhanced coagulator رقم المفاتحة 61/2022/67

#### شركة المعرفة الطبي

Description	Unit price \$	Qty	Total price
ERBE Electrosurgical Unit, Argon-Enhanced coagulator SYSTEM	28,000\$	. 11	308,000\$
CONSIST OF:	Frace leding elled	N. Say	
VIO 200 D Electrosurgical Unit with ENDO CUT. incl. 4 socket	inolyded	TP.	included
modules, 1 system software	7	1/1	
Brand : ERBE	P II of the second		
Origin: Germany			
<b>Model:</b> 10140-200			
ReMode two-pedal foot switch for VIO D, AP & IP X8	included		included
equipment; with connecting cable 5 m, ReMode function only available with VIO D		11	
Monopolar connecting cable, 3-Pin, ø 3 mm socket, length 4.5 m;	included		included
e.g. for OLYMPUS polypectomy snares, with connection ø 3 mm		11	1
Erbe NESSY $\Omega$ , split, VIO, ICC, ACC, contact surface 85 cm <sup>2</sup> ;	included		included
equipotential ring 23 cm <sup>2</sup> , without connecting cable		11	
Return electrode cable, VIO, ICC, ACC, non-Erbe units,	included		included
International, 4 m; for return electrodes with split contact surface		11	
and contact stud			
APC 2 (for VIO) Argon-Plasma-Coagulation Unit incl. 1	included	11	included
APC-Socket module, ECB-cable			
Brand name: ERBE	4		
Origin : Germany			
Madel #10134 000 a			
I LATER LANGUE S			

Date: 30-01-2023

Page 2 of 11

Pressure reducer with sensor for APC 2/APC 3, with manual	included		included
connection; gas cylinder connector to DIN 477 No. 6 m, W 21,8		11	
outside, with hose 0,5 m with manual connection		11	
Argon gas cylinder, 5 liters, empty; gas cylinder connector to DIN	included		included
477 No. 6 m dimensions: height 60 cm, ø 14cm weight 8,8 kg		11	
FiAPC probe 2200 A, ø 2.3 mm, flexible, length 2.2 m; with instrument recognition and integrated filter	included	11	included
VIO CART, system carrier for VIO family and modules;	included		included
dimensions: 630 x 940 x 650 mm (WxHxD), weight: 31 kg, 4			550,000
conductive castors ø 100 mm, with fixing brake		11	
Wire basket, 339 x 100/155 x 205 mm (W x H x D)	included	П	included
Three hundred eight thousand USD	Total Pri	ce	308,000 \$

#### هـضمان وصيانه/ اجهزة Electrosurgical unit Argon- Enhanced coagulator رقم المفاتحة 61/2022/67

#### شركة MEDI TRADING



140.	Code	Description	Origin	QTY	Unit Price	Total price
1	Electrosurgical (	Jnit, Argon-Enhanced coagulator				Total price
	WA90003W	HF generator ESG-300	Germany	11	¢31 750 00	
	WA95623A	Power cable, type G, 4.5 m	Japan	11	\$31,750.00	\$349,250.00
	WA90004W	APU-300 Argon Plasma Unit	Germany	11		-
	WA94033C	Footswitch, wired	Germany	11		
	WA94042A	Pressure Reducer, DIN477 No.10	UK	11	-	
	WA94002A	Argon Probe PA-211U, 10 pcs.	UK	11		
	K10026806	TC-E300 WORKSTATION SET - EU	UK	11		
	WA94020A	HF cable EndoTherapy, monopol.	Japan	11		
	(4)	Argon Gas Cylinder (Locally made)	Locally made	11		
	Abroad training of	course for (5) days excluding traveling days per person in Dubai, UAE	Todaily Made	4	\$5,000.00	\$20,000.00
		Only Three hundred Sixty-Nine Thousand and Two Hu			Total	\$369,250.00

3-ضمان وصیانه/ اجهزة Electrosurgical unit Argon- Enhanced coagulator رقم المفاتحة 61/2022/67 شركة BlueBox مكتب ريتاج العلمي

1		2	3		Z	I		5	6	7	8
Schedule	Item	Brief Description of Goods	Quantity	A CONTRACTOR OF THE PARTY OF TH	C Cost for y eletion of 4 per	-year War		Total	Taxes	Total	GRAND
No.	No.		Offered	YEAR 1	YEAR 2	YEAR 3	YEAR 4	AMC Cost for 4 Years		AMC for 4 YEARS WITH TAXES	TOTAL AMMOUNT FOR 4 YEARS WITH TAXES
1	ALL	Electrosurgical Unit, Argon- Enhanced coagulator	11	800	1000	1200	1400	4,400	NIL	4,400	48,400

1	2	3	4	5		*6
ITEM NUMBER	BRIEF DESCRIPTION OF GOODS	QUANTI TY OFFERE D	COUNTRY OF ORIGIN	UNIT PRICE		Total price on DDP at End-users' site along with Incidental series 3X 5 (D)
				CIP Price /Nd User (A) Al-Dabbash warehouses USD	Emergency services as stated in requirement schedules (C)	
1	Electrosurgical Unit, Argon- Enhanced coagulator	11	INDIA	16,000 \$	INCLUDED	176,000 \$ CIP AL=Dabbash warehouses

8-ضمان وصيانه/ اجهزة Electrosurgical unit Argon- Enhanced coagulator رقم المفاتحة 61/2022/67

#### شركة AMJAAD ASYIA

مكتب ناسا

ITEM NUMBER	2 BRIEF	QUANTI	COUNTRY	5	6			
NOMBER	DESCRIPTION OF GOODS	TY OFFERE D	OF ORIGIN	UNIT PRICE		End- users with Incide		Total price on DDP at End- users' site along with Incidental series 3X 5 (D)
				CIP Price /Nd User (A) Al-Dabbash warehouses USD	Emergency services as stated in requirement schedules (C)	5.3 (b)		
1	Electrosurgical Unit, Argon- Enhanced coagulator	11	KOREA	16,000 \$	INCLUDED	176,000 \$ CIP AL=Dabbash warehouses		

1		2	3			4		5	6	7	8	
Schedule No.	Item	Brief Description of Goods	Quantity		AMC Cost for year wise after completion of 4-year Warranty period.			Total	Taxes	Total	GRAND	
	No.	1.00	Offered	YEAR 1	YEAR 2	YEAR 3	YEAR 4	AMC Cost for 4 Years		AMC for 4 YEARS WITH TAXES	TOTAL AMMOUNT FOR 4 YEARS WITH	
		المسركمة العامسية العامسية العامدة	لتسويغ المجتنة استراده	7							TAXES	
1	ALL	Electrosurgical Unit, Argon- Enhanced coagulator	11	800	1000	1200	1400	4,400	NIL	4,400	48,400	

1	TO BELLEVILLE TO A STREET TO	3	4	5	6
No.	Brief Description of Goods	Quantity	Country of Origin	Unit Price \$	Total price CIP Baghdad \$
	Electrosurgical Unit, Argon- Enhanced coagulator		÷	,	
	ARGON-Z: AC100V~AC240V, 50/60Hz, Gas flow: 0.11/min~9.91/min, Class 1, Type CF				
1	<u>WITH</u>	11	KOREA	16,000 \$	176,000 \$
	ZEUS VISION: 400W, 50/60Hz, 99 memories, Class 1, Type CF				¥ 3
	<u>WITH</u>				
	STANDARD ACCESSORIES (PAGE 7 FROM THE CATALOG)				

ONE HUNDRED SEVENTY-SIX THOUSAND DOLLARS

20

#### 61/2022/67 رقم المفاتحة Electrosurgical unit Argon- Enhanced coagulator رقم المفاتحة 61/2022/67

#### شرکة Capital Tech

### مكتب عين العراق

Item name	quantity	Unit price	Total price
ELECTROSURGICAL UNIT, ARGON-	11	22413 USD	\$246,543.00 USD
ENHANCED COAGULATOR			Two Hundred Forty Six
EXCELL NHP/TA-400 - UK PLUG			Thousand Five Hundred
(100-230V, 50/60Hz)	11		Forty Three US
DS/Esw - PEDAL SWITCH W/CENTRAL BUTTON	11		DollarCIP MOH
CMS/E - CABLE MT.3 REUSABLE TYPE	11		KIMADIAWarehouse
F7820-SPLIT PLATE ADULTS 25PCS EIP/SA	11		Baghdad Al-Dabbash
F7820-SPLIT PLATE ADULTS 25PCS EIP/SA	11		-
RD/5 - ADAPTOR FOR MONOPOLAR CABLES	11		
RD/BF - ADAPTOR TYPE A/B ALSA CATALOG	. 11		
CPB/E - BIP. CABLE MCDS/MCDSe/NHP - MT.3	11	<u> </u>	
PMC/R - BIP. FORCEPS STRAIGHT T.1 L.200			
		Trans.	
*ACCESSORIES FOR ARGON MODULE *	11	AND SITE	
ARGON GAS CYLINDER It.5 EMPTY	11		
RD/P - PRESSURE REDUCER FOR CYLINDER B/5	11		
ESU/TG - ENTRY GAS FLEXIBLE TUBE	11		
H26 - TROLLEY ESU + ARGON (REF WOK)			
			-
* ACCESSORIES FOR OPEN SURGERY W/ARGON *	11		
AC/HANDLE-HAND-SWITCH HANDLE F/RIGID EL.	11	9	
AC/E25-C - RIGID ELECTRODE FOR COAGULAT.	11		
AC/E100-C - RIGID ELECTRODE l.mm.100	11		
AC/E320-C - RIGID ELECTRODE 1.mm.320			
PACKING DETAILS (DALLETTS)			
PACKING DETAILS (PALLETS):			
1 / KG. 120 / CM. 80x130x175(h)			
1 / KG. 100 / CM. 80x130x175(h)		9	
1 / KG. 143 / CM. 80x120x115(h)			
11 / KG. 50 EA / CM. 80x120x125(h) EA			

Three US DollarCIP MOH KIMADIAWarehouse Baghdad Al-Dabbash	CIP MOH KIMADIAWarehouse Baghdad Al- Dabbash
Two Hundred Forty Six Thousand Five Hundred Forty	\$246,543.00 USD

	9	1		on of Goods ##	Quantity offered and	Country of	Price per physical unit [Bidder may insert permissible Currency]	Total CIP price
م معتبره صرف	Seller Code No.	Item No.	Product	Packing Unit Size	physical unit	Origin	CIP MOH Warehouse from any Italy Port to Um- Qasr Port by Sea then to al Dabbash warehouse by trucks.	
C Section 1	EXCELL NHP/TA- 400 - UK PLUG .	1	Electrosurgical Unit, Argon- Enhanced coagulator	PACKING DETAILS (PALLETS):  1 / KG. 120 / CM. 80x130x175(h)  1 / KG. 100 / CM. 80x130x175(h)  1 / KG. 143 / CM. 80x120x115(h)  11 / KG. 50 EA / CM. 80x120x125(h) EA	11	ITALY	22413 USD	246,543.00 USD

Grand Total of Bid price: Two Hundred Forty Six Thousand Five Hundred Forty Three US Dollar CIP MOH KIMADIAWarehouse Baghdad Al-Dabbash
US Dollar \$246,543.00 USD